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B := emptyChessBoard;
QUEEN(B, 1);

— 000 QUEEND OO, UbOobouoboboooobooooobooog

procedure QUEEN(B: chessBoard; x: row) is

if x> 8 then
PRINT(B);

else
foryin1..8 loop

if not TAKEN(B, %, y) then

PUT QUEEN(B, X, Y):

QUEEN(B, x+ 1);

REMOVE_QUEEN(B, x, y);

end if;
end loop;
end if;
end QUEEN,;
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C := {emptyChessBoard}; —CO 100D0D000oooDoooooooDOoo@ooo)yoo
oo
foriinl..8 loop
C1 := nextRow(C, i);
—CUOU0D00DOO0iID0D0U0D0OD0O000ODoODOo0OOxODOoOoDoOooDoODOOb
— 000 b)yDOODDOO(ODDODOO)DO CcLOO0DOO

C := nextCandidate(C1);
—ClO0000 (x by OOODDOOOODOCOObLODODDOOOOOOOODOOOO
—0o0ooooooooooo@ooo)yo coooo
end loop;
PRINT(C);
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B := {emptyChessBoard} ; —B0 1000000000000000000000
QUEEN(B, 1); — 000 QUEENOOUO, O0OOOO0OO0OOOOODOOOOODOOCOOOOOO
procedure QUEEN(C : chessBoard; x: row) is
if x> 8 then
PRINT(C); —O0D0OOO0O0OO0OOO0OOOOOODOOOODO
else

C' := nextCandidate(nextRow(C, i));
—CcoonoopDooooooboooooooOoOoDOOOOO
—00O0ooooooooooo cooao

if [C'| > ulim then —O0ocCcoooDonoumOOOoooOoon

split C'into C1, C2; —0oooooco20000o000
QUEEN(CL, x+1); —O0O0O0OOO0OOcCiOdDOoOOoonDOoOooooDoooooooo
QUEEN(C2, x+1); —UOO0O0O0OO0C2O000O0O0ODOODODODOODOODOO

else
QUEEN(C', x+ 1); —000Do0o0codooooooooooooooooon

end if;

end if;

end QUEEN,;

g2gdgpobobobboodogoouooobboooooan
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* N-QUEEN EXPANDED VER.2 (FOR A SCALAR PROCESSOR)
* BY KANADA,Y. 1984-2-20

******************************************************

IMPLICIT INTEGER (A-Z)
PARAMETER (NN=99)
INTEGER X,Y (0:NN) ,CNT
REAL*4 CPTIME
LOGICAL FAIL

READ* , N
N1=N-1
CALL CLOCK (CPTIME, 3)
CNT=0
X=0
Y (0)=0
* LOOP
1  CONTINUE
* FAIL = .NOT. SAFE(X,Y,TAKE,N1)
FAIL = .FALSE.
DO 10 XX=0, X-1
IF (Y(X).EQ.Y(XX) .OR.
* X-Y(X) .EQ.XX-Y(XX) .OR.
* X+Y (X) .EQ.XX+Y (XX)) THEN
FAIL = .TRUE.
GOTO 15
END IF
10 CONTINUE
15 CONTINUE

IF (.NOT. FAIL) THEN
IF (X.EQ.N1) THEN
* CALL SUCCES (Y,CNT,N1)
CNT = CNT + 1
FAIL = .TRUE.
* STOP

*****

21

26

ELSE
X =X+1
Y(X) =0
END IF
END IF
IF (FAIL) THEN
CALL BACKTR (X, Y,N1)
Y(X) = Y(X) + 1
LOOP
IF (Y(X).LE.N1 .OR. X.EQ.0) GOTO 26
X =X-1
Y(X) = Y(X) +1
GOTO 21
END LOOP
CONTINUE

IF (Y(X).GT.N1) THEN

: FAILED
WRITE(*, '('' # of solutions ='',6I4)') CNT
CALL CLOCK(CPTIME, 4)
WRITE(*, '('' CPU time = '',F8.2,'' (ms)'')")
CPTIME*1000
STOP
END IF
END IF
GOTO 1
END LOOP

***********************************************************

SUBROUTINE SUCCES (Y, CNT, NN)
IMPLICIT INTEGER (A-Z)
INTEGER NN

INTEGER Y (0:NN) ,CNT

WRITE(*,'X,I5,'':'', (X,40I3)') CNT, Y
END

U217 D0ODOOoooooobbobbodoooobibi rortrand oo
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PROGRAM NQUEEN (INPUT, FTO6F001) ; QUEEN1 (YWORK, Y, Y[NEXTPOS], SAFE, X, X0, FIRST, NSOL,
MAXSOL-NEXTPOS, N, NMAX);
CONST ulim = 1023; 1lim = 1023; IF NSOL > ULIM THEN BEGIN
NMAX = 12; NMAX1 = 11; N1 := NSOL DIV LLIM;
MAXSOL = 40000; (* << REGION SIZE DIV (4 * NMAX) *) FOR I := 0 TO N1 - 1 DO BEGIN
LLIMN = 13000; (* >= NMAX * LLIM *) QUEEN (NEXTPOS+NSOL, NEXTPOS+I*LLIM, LLIM, X+1);
END (*LOOP*) ;
TYPE BOARD = ARRAY [0..NMAX1] OF INTEGER; NREST := NSOL - N1 * LLIM;
BOARDS = ARRAY [0..MAXSOL] OF BOARD; IF NREST <> 0 THEN BEGIN
BOARDWK= ARRAY [0..LLIM, 0..NMAX1] OF INTEGER; QUEEN (NEXTPOS+NSOL, NEXTPOS+NSOL-NREST, NREST, X+1);
SAFETY = ARRAY [0..LLIMN, 0..NMAX1] OF BOOLEAN; END (*IF*) ;
GOTO 99;
VAR  ANSCNT : INTEGER; END ELSE BEGIN
SAFE  : SAFETY; FIRST := NEXTPOS;
Y : BOARDS; END (*IF*) ;
YWORK : BOARDWK; END (*LOOP*) ;
N, N1 : INTEGER; ANSCNT := ANSCNT + NSOL;
FTO6F001 : TEXT; 99:
CPUTIME1l, CPUTIME2 : REAL; END (*QUEEN*) ;
z : INTEGER;
BEGIN
FINT; { Fortran initialization }
PROCEDURE PRINT (VAR Y : BOARDS; FIRST, NSOL : INTEGER); READ(N); N1 := N - 1;
VAR J, I : INTEGER; REWRITE (FTO6F001) ;
BEGIN WRITELN (FTO6F001, 'SOLUTIONS OF ', N:1, ' QUEENS PROBLEM') ;
FOR J := FIRST TO FIRST + NSOL - 1 DO BEGIN WRITELN (FTO6F001, ' LLIM = ', LLIM:1, ' ULIM = ', ULIM:1);
ANSCNT := ANSCNT + 1;
WRITE (FTO6F001, ANSCNT:5,' : '); {dummy}
FOR I := 0 TO N-1 DO BEGIN Z := 0;
WRITE (FTO6F001, Y[J,I]:3); QUEEN1 (YWORK, Y, Y[0], SAFE, Z, Z, Z, Z,
END (*LOOP*) ; 2147483647, N, NMAX) ;
WRITELN (FTO6F001) ;
END (*LOOP*) ; ANSCNT := 0;
END (*PRINT*) ; CLOCK (CPUTIME1, 3);

QUEEN (0, 0, 1, 0);
CLOCK (CPUTIME2, 4)

i
'

PROCEDURE QUEEN (NEXTPOS, FIRST, NSOL, X0 : INTEGER) ; WRITELN (FT06F001, 'NUMBER OF SOLUTIONS = ', ANSCNT:1);
LABEL 99; WRITELN (FT06F001, 'CPU TIME =',
VAR CNT, X, X1, J, I, N1, NREST : INTEGER; (CPUTIME2 - CPUTIME1l) * 1000 :8:2, 'ms');
BEGIN FEND; { Fortran finalization }
FOR X := X0 TO N-1 DO BEGIN END.
SUBROUTINE QUEEN1 (Y, YO, YTMP, SAFE, X, X0, IF (Y(J,X1) .EQ. Y(J,X) .OR. T1A .EQ. TA .OR.
* FIRST, NSOL, MAXSOL, N, NMAX) * T1S .EQ. TS)
IMPLICIT INTEGER (A-Z) * SAFE(J,I) = .FALSE.
INTEGER Y (0:NSOL-1, 0:NMAX-1), YO (0:NMAX-1, O0:MAXSOL) 40 CONTINUE
INTEGER YTMP (0:NMAX-1, 0:MAXSOL) 50 CONTINUE
LOGICAL SAFE(0:NSOL-1, 0:NMAX-1) DO 65 X1 = 0, X-1
REAL*8 TODMCR, TIMEl, TIME2, TIME30, TIME40 CNT = 0
* DO 60 I =0, N-1
IF (X.EQ.X0) THEN DO 60 J = 0, NSOL-1
DO 10 X1 = 0, X-1 IF (SAFE(J,I)) THEN
DO 10 J = 0, NSOL-1 YTMP (X1,CNT) = Y(J,X1)
10 Y(J,X1) = YO(X1,FIRST+J) CNT = CNT + 1
ELSE END IF
DO 20 X1 = 0, X-1 60 CONTINUE
DO 20 J = 0, NSOL-1 65 CONTINUE
20 Y (J,X1) = YIMP(X1,J) CNT = 0
END IF DO 70 I = 0, N-1
DO 50 I =0, N-1 DO 70 J = 0, NSOL-1
DO 30 J = 0, NSOL-1 IF (SAFE(J,I)) THEN
Y(J,X) = I YTMP (X,CNT) = I
SAFE(J,I) = .TRUE. CNT = CNT + 1
30 CONTINUE END IF
DO 40 X1 = 0, X-1 70 CONTINUE
* VOPTION NOFVAL IF (CNT .GE. MAXSOL-NSOL) THEN
DO 40 J = 0, NSOL-1 PRINT*, 'TOO MANY SOLUTIONS -- LARGEN "MAXSOL"'
T1A = X1 + Y(J,X1) STOP
TA =X + Y(J,X) END IF
T1S = X1 - Y(J,X1) NSOL = CNT
TS =X - Y(J,X) END

022100 000000000000000O00DO0O0O0O00O0O00O0O
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*********************************************************** 40 CONTINUE

* N-QUEEN FOR A VECTOR PROCESSOR (VER.3A) * DO 60 J = 0, NSOL-1
* BY KANADA,YASUSI  1984-2-10 * IF (SAFE(J)) THEN
hhkhkhkkhkkhhkhhkhkhkhhhkhhhkhhhhhhhhhkhhhkhkhhhkhhhkhkhhhkhkdkhhhhkkhkkhkkhhkk C‘NT = CN'T + 1
PROGRAM NQUEEN DO 50 X1 = 0, X
IMPLICIT INTEGER (A-Z) 50 YTMP (CNT,X1) = Y(J,X1)
PARAMETER (N=11) END IF
PARAMETER (MAXSOL=89999) 60 CONTINUE
INTEGER Y (0:MAXSOL,0:N-1), YTMP(0:MAXSOL,O0:N-1) 70  CONTINUE
LOGICAL  SAFE (0:MAXSOL) NSOL = CNT + 1
* IF (NSOL.GT.MAXSOL) GOTO 99
WRITE (*, ' (X,''SOLUTIONS OF'',I3,'' QUEEN PROBLEM'')') N PRINT*, '#SOL =', NSOL
NSOL = 1 80 CONTINUE
DO 80 X = 0, N-1 CALL PRINT (YTMP,NSOL, N, MAXSOL)
DO 10 X1 = 0, X-1 STOP
DO 10 J = 0, NSOL-1 99 PRINT*, 'TOO MANY SOLUTIONS -- LARGEN "MAXSOL"'
10 Y(J,X1) = YTMP(J,X1) END
CNT = -1 kekkkkkok ko k ok ok ok ok ok ok ok ko ok ok ko ek ok ok ko ko ko ko ko ko ok
DO 70 I = 0, N-1 SUBROUTINE PRINT (Y,NSOL,N,MAXSOL)
DO 30 J = 0, NSOL-1 IMPLICIT INTEGER (A-Z)
Y(J,X) =1 INTEGER Y (0:MAXSOL, 0:N-1)
SAFE(J) = .TRUE. *
30 CONTINUE ONT = 1
DO 40 X1 = 0, X-1 DO 10 J = 0, NSOL-1
DO 40 J = 0, NSOL-1 WRITE (*,'X,I5,'':'', (X,40I3)') CNT, (Y(J,I),I = 0,N-1)
IF (  Y(J,X1).EQ. Y(J,X) .OR. CNT = CNT + 1
X1+Y (J,X1) .EQ.X+Y (J,X) .OR. 10 CONTINUE
* X1-Y(J,X1) .EQ.X-Y(J,X)) SAFE(J) = .FALSE. END
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000000024000 2110 21200000 M-680H IAP/ZIDPOOCOOOODOO
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N CPE 5 DB-{ms) CEUDDDDD(?ns) Hon
6 1 5 5.00
7 3 17 5.67
8 9 79 8.78
9 40 386 9.65
10 209 1,944 9.30
11 1,176 10,631 9.04
12 7,315 62,627 8.56

024O0N0O00O0OO0DOO0OOOOOO (M-680H IAP/IDP)

000 CPU OO (ms) ooo
N OO0 | ioPOO | 1APO D | IDP+IAP | IDPO O | IAPOI O | IDP+AP
4 0.5 0.52 0.52 0.52 0.96 0.96 0.96
5 0.7 0.94 115 115 0.74 0.61 0.61
6 17 2.60 281 2.19 0.65 0.60 0.78
7 6.5 8.85 8.44 4.69 0.73 0.77 1.39
8 29.4 4052 | 37.35| 16.56 0.73 0.79 1.78
9| 1434 | 20844 | 188.09| 7281 0.69 0.76 1.97
10 | 7321 [1110.31 1011.77| 389.48 0.66 0.72 1.88
11 | 4037.3 |[6351.35 | 5838.65 | 2183.85 0.64 0.69 1.85
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2000000000000

N =2 =16 =64 | =256 =512 I=1024
4 7 6 6 6 6 6
5 10 14 14 14 14 14
6 16 79 46 46 46 46
7 20 121 295 164 164 164
8 25 185 509 1009 1062 568
9 33 256 753 1899 3070 3941

10 40 331 1127 3151 5083 8388

11 47 438 1466 4471 8230 13223

O260NOD00O0OO0ODOO0ODOOODOO (S-810,00 ms)

=8 =16 =32
N gooo | oob (obobo| bob (oobo) boo
6 23 64 16 63 14 74
7 14 43 11 45 11 56
8 182 455 111 415 75 403
9 153 381 96 350 69 340
10 1224 3050 760 2745 492 | 2577
11 731 1847 428 1637 294 | 1558
12 6354 | 16023 3868 | 14288 2541 | 13450
13 435 1128 270 999 180 979
14| 37567 | 96840 23032 | 86155 | 14915 80723
=64 =128 =256
N gooo | oob (obobo| bob (oobo) boo
6 16 100 14 120 22 221
7 12 79 16 136 24 264
8 54 408 51 466 47 546
9 50 354 42 394 50 592
10 338 2526 286 2619 251 2632
11 206 1542 159 1589 140 1676
12 1684 | 13010 1250 | 12819 1059 | 13036
13 131 1002 108 1073 101 1280
14| 10148 | 78140 7617 | 76717 - -
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